11.1.12.

nmex . muaXU

|1 cos —, sSin —vy, n=123,. m=123..; [- p, Pl
i p p b
nmox, NrtX p
(].,COST)—(\)TCOS—CIX— Lsinm] =0
P

(Lsin %) = Olsmmdx = [acos—]

P
(1L1)= ¢} 1dx =2p




ntm

P~ _ .
(Cos? ,sin—mgx) :%d’sin(m pn)m(+sin(m +pn)nX§dx:O
-P
n=m
nmx . nox, 100 . 2nmxi,
(cos—  ,sn—-)=—-gsan %dx—o
P P 2_p| P
n+tm
P~ _ .
(cos@,cosm):i d’cos(m Nax (m+naxi,
p p = 23 p p P




n=m

291924 nmex. 1°] 2nmtX U
(cos— ,cos—) =—- g 1+ cos dx=p
p p- 27 p %
N+t m
P~ o
(sin2X gin Xy :ld’cos(m_ MAX _ coetMEIX U — 6
P P 2 P P %
n=m

"] 2nmtX U

nmexX . NuX
T T y1- cos dx=p
. B

(sin—,sm—):l
P P 2




N N
Normerna : [cos ——|=|sin —=| = Jp, 1= J2p.




